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2019(0dd)

Time : 3Hrs. Sem - V-EC/ECE
EC Meas. -1

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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10. What is a digital voltmeter ? What are its (ii)

advantages ? List different types of DVMs.

How can a DVM be used for the measurement

of voltage ?

6

TH ABIT diecHic T 2| 390 AT oTH

2? fafr=1 yor @& dftgn & fod | @

3 Al w1 &1 AT e WA A e da’E

fooar <im Adar 2 ()

11.

OR(3721dT)

What is the difference between photo emissive,

photo voltaic and photo conductive cells ?

Explain in detail.

wrel Seasl®, el dteerrd qor Biel "
Psfdca ddl § 7T 3R & ? fawar 94
F4ai & |

What is a data acquisition system ? Give the block
diagram of a digital data acquisition system and

describe the function of each block. 6

3 1621502

(@) suf fafifa s 2

(@) Sorf Saa= B 2 |

() ®ad te S SNd @ ol dig
faery angfa arel saf 4 Iga it 2
(%) Swiaa g+

Spectrum analyzer in used across the
frequency spectrum of a given signal to
study the

(a) Current distribution

(b) Voltage distribution

(c) Energy distribution

(d) Power distribution

WdgH TATATSYR &I JAIT U feu 1y
R @ gfd WagH & IR IR
foae segaa & fag fear simar 21
(31) g faazor

(@) e faavor
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GROUP -C i)

Answer all Five Questions.

gl ufg gyol & S<x < | 6x5=30

7. Describe the construction, working principle and

advantages of a digital frequency meter. (vi)
6

U A AL ardl 1 g91de, v g
qT omdl BT goi- Y |

OR (3121an) (vii)

Draw the diagram of a D.C. differential voltmeter

and explain its operation..

TP L. fSmferaa dieeiier &1 A
i AT 39 S YOIl 3 AT W |
(vii)
8. What is synchro ? Give its construction and

explain its working principle.

6
R=pl T 27 TSI 91de fRE] 91 sqa
a1t Rigra &) e & |
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The frequency can be measured by
(a) Anderson bridge

(b) Wien bridge

(c) Scherring bridge

(d) Heaviside bridge

MgRT A9 1 & gIRT @1 Il @ ?
(31) vsA fawr

@) 3= fawr

(@) ARk faw

(?) 2adrss faw

The battery cells in an electronic multimeter
are required to measure which one of the
following ?

(a) Resistance

(b) Voltage

(c) Current

(d) Power

U$ seidgre agardl § 1 4 9
foaa! ae & fog 4@ A a1
ATATIHAT BIY 2 |

(31) ufeRie

@) drees

(|) g~

(]) wrfda
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OR(3721dT) x)
Define the Q factor of a coil. What are the different
parameters then can be measured using Q-meter ?
fodt Fara @ Q e & yRWIfa & |
QMM & A1y WM arell B —wie &l IRET (x)

2|

What are thermistors ? What are its applications ?

4
ey T © ? 3D IJIJUANT AT © ?
(xi)

OR (3121a1)

What is a sample and hold circuit and why is it
needed ?
(xi)
UH dWd a1 gles Afbe @1 & dAT 0D
I IATITYHAT 2 ?

What is harmonic distortion ? Define distortion

factor. 4
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The principle of operation of LVDT is
based on variation of

(a) Self Inductance

(b) Mutual Inductance

(c) Reluctance

(d) Permeance

AN A &1 vl Rigra =1 &
famRoT wR 3menRa 2

(31) @—d=vr

(@) yREaRke gxor

(@) Reae=a

(<) ufisT=~

The number of comparators needed in a 4-bit
flash A/D converter is

(a) 8

(b) 32

(c) 15

(d)4

TP 4—dIc & T YR & T/ )
Hdex H fpad RS Y ATaeIHdAT
gl 2 1

(31) 8

) 32

(@) 15

() 4
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(xix)

(xix)

(xx)

(xx)

12 NT5032

The type of multivibrator used for generation
of clock pulses is

(a) Monostable

(b) Astable

(c) Bistable

(d) None of the above

FATd Ued & o4 @ foIv fodg yaR
ST g YANT A ATAT SA1aT 2 |
(31) AT

@) I—w 9

(@) arg—da

(]) SWidd d§ & ®Ig L)

The voltage resolution for of an n-stage
ladder network is given by.

(a) Vrgr /2"
(b) Vrgr /2"

(c) Vrgr /2"
(d) VREF /1’1-1

Udh n IR $ o) Acdd d foy dlecdl
Relleqe@ &1 791 g1 faan <imar 2 |
(31) Vegr /2"

(9) Vrgr /2

() Vier /2"

() Vrgr /n-1

NT5032

(xiv)

(xiv)

(xv)
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A synchro is used to
(a) Accelerate a rotating shaft
(b) Convert an angular position of a shaft in
to an electric signal
(c) Convert linear motion into angular position

(d) Amplify low frequency signals

Rrept @1 AT f 2q fear smar 2

(31) ve ga-l drad A19e &l afRkd s
eq

(@) fodl ave @& @it Rafa +1 &
faga 9&d d 93l

() am wfa o1 HivE Reafa & sgan

(]) =1 gy Hadl &I yaftha &=

An advantage which VTVM has over a non

electronic voltmeter is

(a) Low power consumption

(b) Low input impedance

(c) The ability to measure wider range of
voltages and resistance

(d) Greater portability
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